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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

—e— dFVI
0.04 1 —@— dFVO

0.02

0. 00 - b ab 4 - @ @ @ 0 @D ab D b L b 0 - b b b b -

—0. 02 ~

-0. 04 ~

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5 30.0
day

—&— DUC
225 -

200 -

175 A

150 ~

125 -

100 -

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5 30.0
day

—&— FRV

140 ~

120 -

100 ~

80 -

60

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5 30.0
day

6470 1 —@— FRC -a——a—e—6

. 6465
. 6460 -
. 6455 -
. 6450 -
. 6445 -

. 6440 -

. 6435 -

10.0 12.5 15.0 17.5 20.0 22.5 25.0 27.5 30.0
day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

col [[FVQPH'] is missing

—&— PHO




Trend plot forP3-6_0
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P3-6
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13:40 185 100.0 5| TiHe13:40 RHEF (KEAERESE)
15:25 185 100.0 5| Ffe15:25 KENFERF (RE1ERGEE)
23t]1480.0 (8%) 800. 0 32803 %EC: 2080.0, PH: 6.0

unusual large postFgEt from yesterday (302), set to 300.0 ml.
MERSEREC (2620.0) 5i%EEC (2000.0) REK K, BHRE
BE[EIRECE (2620. 0 vs 3600.0) RS
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